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1. Evaluate.
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3. Express in the form P .

a) 6! ,\
b) 91 x 90 x 89 x 88 x 87 x 86
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4. Which is the correct simplification of 96!,
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5. Which is the correct number of permutations
of five items from a list of nine items? P
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6. There are 15 teams competing in a
synchronized swimming competition. In
how many ways could first, second, and
third place be awarded?
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7. A club has 18 members. In how many ways
could a president, vice president, treasurer,
and secretary be elected?
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8. There are 22 players on a baseball team. In
how many ways could the batting order of
nine players be assigned?
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9. Write in simplest factorial form.
a) 10x9x8xT
b) 99 x 98 x 97!
c) 90 x 8!
d) n(n-1)!
el (n+2)(n+1)n!
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10. Application A salesperson needs to visit 15
different offices during the week.

a) In how many ways could this be done?

b) In how many ways could she visit four
different offices on Monday?

¢) In how many ways could she visit three
different offices each day from Monday
to Friday?
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